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Question Number : 1 Question Id : 5400732401 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Research is:

Options :

1. Search again and again

2. Finding solution to new problem

3. Working in a scientific way to search for truth of any problem.
4. None of the above

Question Number : 1 Question Id : 5400732401 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

‘x’ﬁﬂ%ﬁ?ﬂ%:

Options :

1.Y: g: LEIS|

2. TS AT BT FHTY Qo1

3. fordt g &) =g SHA g oFTAe adies @ o1 &R

4. SRIGI T I PIs et

Question Number : 2 Question Id : 5400732402 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In the process of conducting research “formulation of hypothesis” which followed by
Options :

1. Statement of objectives

2. Analysis of data

3. Selection of research tools

4. Collection of data

Question Number : 2 Question Id : 5400732402 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

foralt <ty fepan & e § “URepeuT o1 el & UL 8T 2
Options :

1. Sl BT HYF

2. ST BT fa=RAwT

3. RNY JUHRUN H1 A

4. 3CT4UE




Question Number : 3 Question Id : 5400732403 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

How to judge the depth of any research by research?
Options :

1. By research title

2. By research Methodology

3. By research duration

4. By research objectives

Question Number : 3 Question Id : 5400732403 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
fordll Mey 1 TTERTS BT Sfidher b fohdT STl 52
Options :

1. Y &b Wb gRI
2. TNY B BTV
3. Y DY I

4. MY D I

Question Number : 4 Question Id : 5400732404 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following methodology is being used in empirical research?
Options :

1. Inductive method

2. Deductive method

3. Initiative method

4. Scientific method

Question Number : 4 Question Id : 5400732404 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

TIHAH ST H o THR Bt BRI Tgad &1 il 82
Options :

1. 3{ITA YOTTeit

2. fRerA gomedt

3. U8 YuITef!



4. AP YOI

Question Number : 5 Question Id : 5400732405 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The personalized and contextualized references are permissible in which type of reporting of research?
Options :

1. experimental research

2. historical research

3. ethnographic research

4. survey based research

Question Number : 5 Question Id : 5400732405 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
fop g TepR b1 ity RUTe H qafekigpd Td UTefies Tl 1 SrgAfd 82
Options :

1. TS MY
2. Ufaee My
3. 799 faq =Ny
4. FA&oT et Ty

Question Number : 6 Question Id : 5400732406 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Research conducted to find the solution for an any initiate problem is: -
Options :

1. fundamental research

2. analytical research

3. survey research

4. action research

Question Number : 6 Question Id : 5400732406 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

forlt ATpTTeIch TN & THTIYTH 8 P ST aTelt TNY Haard o:
Options :

1. e =My

2. fa=eiyuTeEs Ty




3. AefOT =Y
4. fTopaTHs Ty

Question Number : 7 Question Id : 5400732407 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Research, which follows a case study method is called:
Options :

1. clinical or diagnostic

2. caused

3. analytical

4. qualitative

Question Number : 7 Question Id : 5400732407 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

e, fST U A &1 39 BidT §, Hadmd! 6:
Options :

B ECACNIRERY)

2. BN

3. fazamoneErs

4. UTHD

Question Number : 8 Question Id : 5400732408 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A hypothesis which develop while planning the research is:-
Options :

1. A Null hypothesis

2. A working hypothesis

3. A Relational hypothesis

4. A descriptive hypothesis

Question Number : 8 Question Id : 5400732408 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

MY P} AT ST THY FIBRIT 81 arelt uRe e gl 8-

Options :
1. L RSB




2. BRI URB ]
3. JaYTHPD URB AT
4. JUHTED GRS AT

Question Number : 9 Question Id : 5400732409 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The process not needed in experimental research is: -
Options :

1. Reference collection

2. Controlling

3. Observation

4. Manipulation and replication

Question Number : 9 Question Id : 5400732409 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
TTIRTIeTe XY o e Tifosan &t sfraxadhal Ta] giat:
Options :

1. Gei 9ugu

2. iR

3. Sfaeleh

4. TR SR wfafoman

Question Number : 10 Question Id : 5400732410 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Formulation of hypothesis may not be necessary is:
Options :

1. Survey Studies

2. Fact finding (Historical) studies

3. Experimental studies

4. Normative studies

Question Number : 10 Question Id : 5400732410 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
TR AT BT FARETUT SHTa=T e Tl &:

Options :



1. A&for 3fegg_ o
2. T @ (UfeIRIP) Sregg— |

3. TONTTHSD 3T H|
4. HHESD 3T H

Question Number : 11 Question Id : 5400732411 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following statical test is used to determine if there is a significant relationship between two
variables?

Options :

1. T-test

2. ANOVA

3. Correlation coefficient
4. Chi-square

Question Number : 11 Question Id : 5400732411 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
3R &1 IRI (ANTSTeH) & i HgdqU! URTE0T SUANT H TIT SITa?
Options :

1. gt
2. TS

3. ggdy
4. BTS-a1

Question Number : 12 Question Id : 5400732412 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Poisson distribution is applied for: -
Options :

1. Regular random variable

2. Constant time variable

3. Discrete random variable

4. Irregular random variable

Question Number : 12 Question Id : 5400732412 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



WA faaror A fan S &:
Options :

1. Frafia arefess @R

2. R g7g ord

3. A Tefaddh TR

4. Jfafla grefesd @R

Question Number : 13 Question Id : 5400732413 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What are the variable whose calculation is done according to the weight, height and length, known as: -
Options :

1. Flow Chart variables

2. Discrete variables

3. Continuous variables

4. Measuring variables

Question Number : 13 Question Id : 5400732413 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

98 HIF ¥ TR ¢ oS! UM YR, TS Td $ams & IR &1 ol 82
Options :

1. JdTg I1E TR

2.3AYdd =R

3. 9dd =R

4, HIYh =R

Question Number : 14 Question Id : 5400732414 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Specialized processes such as graphical and numerical method are utilised in which of the following?
Options :

1. Education statistics

2. Descriptive statistics

3. Business statistics

4. Social statistics

Question Number : 14 Question Id : 5400732414 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0
g & 9 forad faRiy feerg ud SReretss ufafshard e &1 St 82
Options :

1. Qerforer ifegat
2. JUHTHS TRt
3. ST Tifawt

4. AT eI

Question Number : 15 Question Id : 5400732415 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The mode and mean are given by 5 and 6 respectively. Then median is:
Options :

1. 17/3.

2.13/3.

3.23/3.

4.33

Question Number : 15 Question Id : 5400732415 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

I Ud H1¥ HHRT: 5 Td 6 [G8 T §, I ITabT HITLIHT h:
Options :

1. 17/3.

2.13/3.

3.23/3.

4.33

Question Number : 16 Question Id : 5400732416 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The standard normal distribution has:
Options :

1. Mean = 1 and standard distribution = 0
2. Mean = 0 and standard distribution = 0
3. Mean = 1 and standard distribution = 1
4. Mean = 0 and standard distribution = 1

Question Number : 16 Question Id : 5400732416 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0
AHS AT fqaRoT 8 giaT B
Options :

1. 4180 = 1 Ud M fdarur =0

2. H1% = 0 U9 A fddRur=0

3. 91 = 1 U9 HH fdaRur = 1

4. 119 = 0 Ud HH® faaRur = 1

Question Number : 17 Question Id : 5400732417 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which measures of the central tendency include the magnitude of scores?
Options :

1. Mean

2. Mode

3. Median

4. Range

Question Number : 17 Question Id : 5400732417 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

o1 ggil o oo AT H 3feh! o1 GRHATOT JHTARIT gl 82
Options :

1. {1

2. 9gA®H
3. HIfehT

4. 9ofY

Question Number : 18 Question Id : 5400732418 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is not a type of research design?
Options :

1. experimental design

2. descriptive design

3. correlation design

4. probability design

Question Number : 18 Question Id : 5400732418 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0 Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

9 & T B9 My S ST UHR 781 82
Options :

1. e f&eg=

2. JUHTHS fEoTgA

3. gg-UeYTds f&ormeA

4. FGHTGAT foorga

Question Number : 19 Question Id : 5400732419 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
A “pilot study” is also called a: -
Options :

1. descriptive study

2. feasibility study

3. correlation study

4. explanatory study

Question Number : 19 Question Id : 5400732419 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
e 3T B ff g1 ST B
Options :

1. JUFTHD eI
2. IAETIdT 3T

3. Jg-GaYTHD T
4. IRATHD I

Question Number : 20 Question Id : 5400732420 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following should not be a criterion for a good research protect?
Options :

1. Demonstrates the ability of the researcher

2. Is depended on the completion of other protects

3. Demonstrates the integration of different fields of knowledge

4. Demonstrates the skills of the researcher



Question Number : 20 Question Id : 5400732420 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

TS 33T MY GRASHT &1 9 7 Q DI G 7S 81 8141 IMew?
Options :

1. et B e P v Rid HRar gt

2. 3] YRS &1 JaIfd R AR 8

3. faftre &= & I & THIHRU1 B U Rid HRA1 8l

4. TSt & B BT faHrT FRaT 8l

Question Number : 21 Question Id : 5400732421 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Bibliography given in a research protect report:
Options :

1. Shown vast knowledge of the researcher

2. Helps those interested in further research

3. Has no relevance to research

4. All of the above

Question Number : 21 Question Id : 5400732421 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
TH Y giRare Ruie 7 <t 1g 3y gt
Options :

1. 2ereff & g oY gwfar g

2. M MY HIA AT B A Bl &
3. MY Y I oY a1 Waat

4. IR 7 I ot

Question Number : 22 Question Id : 5400732422 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Authenticity of a research finding is its:
Options :

1. Originality

2. Validity

3. Objectivity

4. All of the above



Question Number : 22 Question Id : 5400732422 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

s MY Fpy &) grATosar gidl 8, 39! -
Options :

1. Afdpar #
2. qyar |

3. axgHyar 4
4. ot

Question Number : 23 Question Id : 5400732423 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which technique is generally followed when the population is finite?
Options :

1. Area sampling technique

2. Purposive sampling technique

3. Systematic sampling technique

4. None of the above

Question Number : 23 Question Id : 5400732423 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

T SR & 3eqg g P Al a1 TanT H &1% STt 82
Options :

1. & THATHROT dh 1

2. SERAYU] THATHRUT T 1ah

3. AR THATHRU Th-ilh

4. I3 TEl

Question Number : 24 Question Id : 5400732424 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Manipulation is always a part of:
Options :

1. Historical research

2. Fundamental research

3. Descriptive research



4. Experimental research

Question Number : 24 Question Id : 5400732424 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
XD THRI TH YT 5:

Options :

1. UfdeTRy =My 1

2. TifeTes QMY &1

3. JUHTED MY BT

4. GO QY BT

Question Number : 25 Question Id : 5400732425 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Action research is: -

Options :

1. An applied research

2. A research carried out to solve immediate problems.
3. A longitudinal research

4. All of the above

Question Number : 25 Question Id : 5400732425 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
foraTere MY 6:
Options :

1. T TagTRe Y
2. I FHT T GHIYM HA g fha1 S arel =y

3. U Sgeyd =Ny
4. gt

Question Number : 26 Question Id : 5400732426 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The process not needed in experimental research is:
Options :

1. Observation

2. Manipulation and replication



3. Controlling
4. Reference collection

Question Number : 26 Question Id : 5400732426 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
TANTIETS =Mt B o Ufthan &t siraasdr gl gl 82
Options :

1. 3[adIHA

2. BXID IS Ug Ufafehan
3. FgEieRo
4. el gugur

Question Number : 27 Question Id : 5400732427 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

When a research problem is related to heterogeneous population, the most suitable sampling method is:
Options :

1. Cluster sampling

2. Stratified sampling

3. Convenient sampling

4. Lottery sampling

Question Number : 27 Question Id : 5400732427 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

for STTiReaT § Tefdd Sne o &1 Hea’ Sugad AT R0l Y |
Options :

1. =8 Ufaaa

2. TRtehd Ufcreraq

3. gaY ufcaa

4. Qe ufcerga

Question Number : 28 Question Id : 5400732428 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In research methodology, interpretation is the search of:
Options :

1. Statistical data



2. Research Problem
3. Research Finding
4. Research plan

Question Number : 28 Question Id : 5400732428 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

WY BRIV &, AR B1 TSl B STl 8
Options :

1. GiRkegep! SeTd

2. MY FHATH

3. Y Fp el ¥

4. MY ST Y

Question Number : 29 Question Id : 5400732429 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A long essay as a single piece of work is called:
Options :

1. Research report

2. Monograph

3. Dissertation

4. Book

Question Number : 29 Question Id : 5400732429 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fopft B & U ghe W U a1 (e fora1 Heand &:
Options :

1. ]y fRare

2. HHIU™

3. fewdem

4. fopde

Question Number : 30 Question Id : 5400732430 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Switch off the following is an optional supplement of a research paper?
Options :



1. Foot note
2. Appendix
3. Glossary
4. Bibliography

Question Number : 30 Question Id : 5400732430 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

9 T T 1 U MY UF HT db D Rb 82
Options :

171G o

2. 3EY

3. TGHI

4. 0 gt

Question Number : 31 Question Id : 5400732431 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The report submitted when there is a time lag between data collection and presentation of result is called:
Options :

1. Thesis

2. Interim report

3. Summary report

4. Article

Question Number : 31 Question Id : 5400732431 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

ST UG Td ORI &t IRgfd § & 81 H TRgd &t 15 RUIC dgard g
Options :

1. i

2. iy feard

3. RiRT RUre

4. 3G

Question Number : 32 Question Id : 5400732432 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the two terms can be used together in a research article as per journal requirement?



Options :

1. introduction and acknowledgement
2. result and discussion

3. method and discussion

4. methods and references

Question Number : 32 Question Id : 5400732432 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

foraft 2Ny 3Tei A Siidl B SMAIH IR B Y G Yeq Teh 1Y T fhT o Tobdl 82
Options :

1. U1 Td 3THR

2. U wd ==t

3. 9Tkt ud ==t

4. UgTd Ud o g

Question Number : 33 Question Id : 5400732433 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Methodology in grant proposal:
Options :

1. must be addressed in detail

2. must be brief

3. need not be discussed

4. just need the name of method

Question Number : 33 Question Id : 5400732433 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
3{I& WTd H B gora:

Options :

1. foga aftfa g =nfee

2. Hféra g e T

3. = BT SMTITT el Tel &

4. HId HRIYUTE! BT ATH B 511 ATy

Question Number : 34 Question Id : 5400732434 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Informal report is used for:
Options :

1. Longer documents

2. Shorter documents

3. Academic paper

4. All of the above

Question Number : 34 Question Id : 5400732434 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Options :

1. ofdl Al #

2. Bl XTdSll |

3. 3PIGHHD TN H

4. g4t

Question Number : 35 Question Id : 5400732435 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A list of “Headings” and “Appendices” of the report is called
Options :

1. Table of content

2. Acknowledgment

3. Summary

4. Abbreviation

Question Number : 35 Question Id : 5400732435 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
et ~ 7 uRAST -~ o et e &
Options :

1. fawa =it

2. 3THR

3. ORI

4. JRUTER

Question Number : 36 Question Id : 5400732436 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

“T” Test 1s a significance test that assesses:

Options :

1. The means of two independent groups

2. The median of two dependent groups

3. The modes of two independent variable

4. The standard deviation of three independent variable

Question Number : 36 Question Id : 5400732436 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
A-UYeI07 U Hedqul URIEf0 § Sl o 3fidar ol o
Options :

1. &I Sad 9qg! & A B
2. &1 3N THE! & HTferenT ol
3. 3 T oW b AIS B
4. T Wdd =R BT A fagaq

Question Number : 37 Question Id : 5400732437 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In to how many types can be classify measures of depressions?
Options :

1.3

2.4

3.5

4.6

Question Number : 37 Question Id : 5400732437 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Thelld & IUTT B fa UeRI | AU far S gehdn 82
Options :

1.3

2.4

3.5

4.6

Question Number : 38 Question Id : 5400732438 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

What is the formula for measuring skewness in a database?
Options :

1. mean — median

2. mode — median

3. C3 (mean — median I standard deviation

4. mean — mode I standard deviation

Question Number : 38 Question Id : 5400732438 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
ST H fawHaT Stidad &1 ®IF A1 P 82
Options :

1. - HTiRhT

2. 9gdd — T

3. C3 (H19- H1fehT | U foaeH

4. A1 — §gdi | G fade

Question Number : 39 Question Id : 5400732439 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is a principle of experimental research design?
Options :

1. Maximizing treatment variance

2. minimizing error variance

3. Maximizing error and minimizing treatment variance

4. Maximizing treatment and minimizing error variance

Question Number : 39 Question Id : 5400732439 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

9 T T HH I T TS SIHYUT fesg o1 Rigid 82
Options :

1. TUear & SUAR DI HfYHaH BT

2. Ffe fa=RUr D1 =gH BT

3. 3¢ 1 3f¥Haq Td fi=dl & IUAR &I gAdH HRAl

4. YR D! Hf¥ehdH Td Ffe foarur &1 gaaq s

Question Number : 40 Question Id : 5400732440 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0 Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Field work based research is classified as:

Options :

1. empirical

2. historical

3. experimental

4. biographical

Question Number : 40 Question Id : 5400732440 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

& BT MR STHUH P Fifferd fbar ST g -
Options :

1. JANTRYE & =0 H

2. ¥R & = U H

3. PRI & =g §

4. Siig=-fo & U H

Question Number : 41 Question Id : 5400732441 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The primary data collection method that involves tracing behavior over a period of time is called:
Options :

1. Browsing

2. Observation

3. Sampling

4. Testing

Question Number : 41 Question Id : 5400732441 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

forelt THg o FaER BT Udl A & fore Urfies SeT wog v fafd weard! o
Options :

1. ST

2. 3{adlh

3. A
4. Gefor



Question Number : 42 Question Id : 5400732442 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Two types of research data include:
Options :

1. Recognised and unrecognised data
2. Structured and unstructured data

3. Qualitative and quantitative data

4. Organised and processed data

Question Number : 42 Question Id : 5400732442 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

< UBR & MY ST H TR 8 &
Options :

1. {10 T4 3= 8c

2. WA Td 3riRfed Sal

3. UMD Td HEATHS Sl

4. Y Td I Sl

Question Number : 43 Question Id : 5400732443 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Data, that are collected or sourced from the Internet is called:
Options :

1. Documentary sources of data

2. Interval secondary sources of data

3. External secondary sources of data

4. All of the above

Question Number : 43 Question Id : 5400732443 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

gexe A Jufed 3T 39 Fid 9 frar g3 SeT Heard 3 -
Options :

1. ST & XISl Al

2. & SHidRD IS Gl

3. ST SRl HIAHS Hld

4. 941



Question Number : 44 Question Id : 5400732444 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Data collected from an archive or the record of an organisation, is called:
Options :

1. Interval data

2. Secondary data

3. External data

4. Primary data

Question Number : 44 Question Id : 5400732444 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

T RO YT el TR & Raprs @ Wafgd SeT dgamdl 6:
Options :

1. 3idRe SaT

2. fgdige ger

3. SR SeT

4. T A® Sl

Question Number : 45 Question Id : 5400732445 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The data contained in the national income estimates and census of population done by the government is
called:

Options :

1. Interval data

2. Secondary data
3. Primary data
4. External data

Question Number : 45 Question Id : 5400732445 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

RIS 311 & AU Td SHERSAT TV, Ot b TR gR1 fbT S 8, W GHlied Scl hadldl o:
Options :

1. 3iaRe gaT

2. feditas et

3. Ui 8



4. ST ST

Question Number : 46 Question Id : 5400732446 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which among the following is an open source software for data analysis?
Options :

1. SPSS

2. MATLAB

3.R

4. MINITAB

Question Number : 46 Question Id : 5400732446 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

ST fa=avor & o 9 o 9 19 U Gad Qe 82
Options :

1. SPSS

2. MATLAB

3.R

4. MINITAB

Question Number : 47 Question Id : 5400732447 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

When is set of possible answers to select for a question in given to a respondent, it is called:
Options :

1. open ended question

2. classical question

3. filtered question

4. fixed choice question

Question Number : 47 Question Id : 5400732447 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

oTe it STRETAT I Th T 1 ofaTd S & o o THITad IR A 9id &, dd IA Pead o -
Options :

1. faEd STaTe arel Uy

2. ARAT UY

3. fhee fobd A Uy




4. Ffga fowea Uy

Question Number : 48 Question Id : 5400732448 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the relationship between sample size and the standard error?
Options :

1. The standard error decrease as the sample size decrease.

2. The standard error in unaffected by the sample size.

3. The standard error increase as the sample size increase,

4. The standard error decrease as the sample size increase.

Question Number : 48 Question Id : 5400732448 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

T BT YR T A FfC & aid 31 4aY g2

Options :

1. A & MR H w1 g1 TS Ffe HH g1 ot o |

2. T & AHR H G H 9 AT 761 84 I AFS IS T DI UHTT 151 oidl &
3. T & PR H 3G 8 I as qfe A gfg Bt ®

4. 91 & NMHR H gig 1 J AFS I HH g ol &

Question Number : 49 Question Id : 5400732449 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

To calculate relative standard deviation:

Options :

1. Only standard deviation value is required.

2. Only value is required.

3. Both mean and standard deviation values are required.

4. Both mean and standard deviation values are not required.

Question Number : 49 Question Id : 5400732449 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

e A fogaq & s o ford -
Options :

1. Had AH® faaa deg $1 aadhdl 81! §
2. Had dog B ATIRIHAT &Il & |




3. G, A1 U9 AFS [qaa dog $1 STaRgehdl gidl gl
4. G, AT U4 O faga degd &1 MTa=adhdl -Tgi sl ¢ |

Question Number : 50 Question Id : 5400732450 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Compute the standard deviation of the following numbers: 5, 6, 4 and 2
Options :

1. 1.7

2.2.7

3.1.2

4.42

Question Number : 50 Question Id : 5400732450 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

9 3] 1 AFD AT B TTUMT HIT: 5, 6, 4 TG 2

Options :
1.1.7
2.2.7
3.1.2
4.4.2

Biotechnology
Section Id : 54007350
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 50
Enable Mark as Answered Mark for Review and Clear Yes
Response :
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 54007350
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 51 Question Id : 5400732451 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0 Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The word cell is not used for

Options :

1. Algae

2. Bacteria

3. Fungi

4. Viruses

Question Number : 51 Question Id : 5400732451 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

I Ueg Fferiaa § 9 faraes fore vrgad 18t giar /2
Options :

1. Qard

2. SR

3. hddh

4. fawgp

Question Number : 52 Question Id : 5400732452 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Selut a food borne toxin

Options :

1. Botulinum Toxin

2. Tetanus Toxin

3. Dephtheria Toxin

4. Cholera Toxin

Question Number : 52 Question Id : 5400732452 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

HIoH gRT I favd dd (S ITRI) BT 994 B
Options :

1. STgierH TRy

2. feea erfeas

3. feuwiifea erfem

4. DICR] CITRI



Question Number : 53 Question Id : 5400732453 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The distribution of intrinsic proteins in the flasma membrane is
Options :

1. Symmetrical

2. Asymmetrical

3. Random

4. None of the above

Question Number : 53 Question Id : 5400732453 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

o fareaht & SUfRA 3fidRes Ui &1 Sffee 39 UHR gl g
Options :

1. FHiHd

2. A

3. UrEfsh

4. D13 TRl

Question Number : 54 Question Id : 5400732454 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The subcellular organelle involved in apostosis is .....
Options :

1. Mitochondria

2. Golgi body

3. Lysosomes

4. Endoplasmic reticulum

Question Number : 54 Question Id : 5400732454 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
I |1 BIRIDIT 3T TR H Ffeq gia

Options :

1. ATSCIpISar
2. 3Tt g8l

3. ARNE

4. TBIUATIoHS e Ha




Question Number : 55 Question Id : 5400732455 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
A cell without cell wal is termed as
Options :

1. Apoplast

2. Protoplast

3. Tonoplast

4. Smyplast

Question Number : 55 Question Id : 5400732455 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

HIRTHT Fht & foT foasdt oifReT &1 Fgd 52
Options :

1. TUIIRE

2. UICIRe

3. TFTWIRE

4. R

Question Number : 56 Question Id : 5400732456 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
One of these is not proteinaceous in nature
Options :

1. peptidose

2. Ribozyme

3. Primase

4. RNase

Question Number : 56 Question Id : 5400732456 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
S8 A T Wi Fffd 78T 3
Options :

1. UgtSTal

2. RaergH

3. UIgHS



4. RUATH

Question Number : 57 Question Id : 5400732457 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A biocatalyec which joins to strands of DNA is called as
Options :

1. Polymeerase

2. Synthase

3. Ligase

4. Helicase

Question Number : 57 Question Id : 5400732457 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
TH SIadh SORP Sl &l SITAID b LA Bl oiedl § 39 Had &
Options :

1. T THRS
2. e
3. TS
4. gailhol

Question Number : 58 Question Id : 5400732458 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Parkinje cells are found in

Options :

1. Cerebellum

2. Ganglia

3. Hypothalamus

4. Pituitory Gland

Question Number : 58 Question Id : 5400732458 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
T~ HIRTBIT Bl TR STl 52
Options :

1. GReeH

2. Tifrer



3. ERUITHY
4. freged itk

Question Number : 59 Question Id : 5400732459 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The harmone responsible for onset of puberty in femals is...
Options :

1. Prolactin

2. Oxytocine

3. Insulin

4. FSH

Question Number : 59 Question Id : 5400732459 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
a8 g Sl Rl o wadf am & forg forfieR giar 3|
Options :

1. Uicifaed
2. TR

3. $qfeH
4. ThUyIUd

Question Number : 60 Question Id : 5400732460 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Na+ - K+ exchange pump is involed in
Options :

1. Diffusion

2. Osmolysis

3. Proteolysis

4. Active Transport

Question Number : 60 Question Id : 5400732460 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fETH-uie R g 53 ufshar § Fird giar |
Options :

1. URTERU



2. STAIRY
3. Uit
4. fopg e guIe

Question Number : 61 Question Id : 5400732461 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The Metal component of Oxygen evolving complex of Chloroplast is
Options :

1. Fe

2. Mg

3. Mn

4. Cu

Question Number : 61 Question Id : 5400732461 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

FARIERE H IufRYT RIS o1 ITF HRA aTd Sifed U H I I oTg Bidll 82
Options :

1. 3R

2. AfoRrEH

3. i

4. BIR

Question Number : 62 Question Id : 5400732462 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In mesophyll cells of CAM plants, CO2 fixation during day occurs through
Options :

1. RUDP Oxygenase

2. RUDP Carbosylase

3. PEP Carbosylase

4. Hexose isomerase

Question Number : 62 Question Id : 5400732462 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
drue el ot Fefth e BIRIBTSN B Bleegeiiags o MyRu fa & 59 gRT fhar Jrar g |

Options :




1. RGSIY ST
2. RYSIU HraiferIerst
3. MUl Fraffaer

4. RIIST TSR]

Question Number : 63 Question Id : 5400732463 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Photosystem II occurs in

Options :

1. Cytochrome

2. Grana

3. Stroma

4. Nucleus

Question Number : 63 Question Id : 5400732463 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
ICIRRCH IT UTT STl 5 |

Options :

1. grgerhH |

2. 9T H

3. %My

4. P5D H

Question Number : 64 Question Id : 5400732464 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The Precursor of Auxin is

Options :

1. Glycine

2. Alanine

3. Tryptophan

4. Proline

Question Number : 64 Question Id : 5400732464 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

STRI BT ST B 82



Options :

1. TSR
2. TaAIA
3. oot
4. U=

Question Number : 65 Question Id : 5400732465 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Lysosomes are known as 'suicidal bags' because
Options :

1. Parasite Activity

2. Presenue of food vamoles

3. Hydrolytic Activity

4. Catalytic activity

Question Number : 65 Question Id : 5400732465 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
TSI BT ST ST BT S BT G-I BRI 5:-
Options :

1. Gtoitat febafafer

2. FRRYYTIT

3. gIEgifafes fomanfafy

4. IR fobar fafey

Question Number : 66 Question Id : 5400732466 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

One of the following microorganism can do photosynthesis in presence of light.
Options :

1. Cyanobacteria

2. Pseudomonas

3. Virus

4. Fungi

Question Number : 66 Question Id : 5400732466 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



9 T U geriial Ul & SUTRIfd T TehT=T Uyl ST SRl ¢ |

Options :

IS IERICESIIRS)
2. SN
3. fasmop

4. hdd

Question Number : 67 Question Id : 5400732467 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

which part of the compound microscope helps in gathering and fousing light rays on the speciman to be
viewed?

Options :

1. Condenser Lens
2. Magnifying lens
3. Objective Lens
4. Eyepiece Lens

Question Number : 67 Question Id : 5400732467 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
W;ﬁﬁmﬁwm%ﬁ%wmﬁmﬁﬁwmwmmwm
PRl ol

Options :

1. PredRag

2. BT o

3. Sffssifaed o

4. MUY oY

Question Number : 68 Question Id : 5400732468 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

which of the following are produced by microorganisms.
Options :

1. Alchoholic beverages

2. Fermented dairy products

3. Breach

4. All of the above



Question Number : 68 Question Id : 5400732468 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
e & § o gemrofial gRT Wed g 37
Options :

1. TeeplgITeieh Ug

2. fofad g Idrg

3. 98 (UTaRICT

4. 9

Question Number : 69 Question Id : 5400732469 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
One of the following is spirocheets
Options :

1. Streptomyces sp.

2. Trepanema pallidum

3. spirillum volutans

4. corynebaiterium diptheriae

Question Number : 69 Question Id : 5400732469 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
9 & ¥ T Wil 3|
Options :

1. PSS ol

2. feufm dfafsam

3. ISR A

4. PIRAdTFREH fSwR

Question Number : 70 Question Id : 5400732470 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The respiratory chain of bacteria is associated with the
Options :

1. Cytoplasmic membrane

2. Cell wall

3. Cytoplasm

4. Mitochondrial membrane



Question Number : 70 Question Id : 5400732470 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
SHATUSit Bt -9 319 Waed gici o
Options :

1. ArgeIioe et

2. HIRIDT At

3. HIRIBT GHA

4. AISCIPpIoad fret

Question Number : 71 Question Id : 5400732471 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Using its 5'- nuclear activity the enzyme which removes RHA primer is
Options :

1. DNA Polymerase III

2. RNA Polymerase

3. DNA Polymerase |

4. DNA Polymerase II

Question Number : 71 Question Id : 5400732471 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

YA 5> GfaeTust foharfafy GRT ARUAT MIZHR P g B aTdl TIZH g |
Options :

1. ST UIHRT 111

2. 3RTT Ui TERS!

3. SITT TS |

4. AT TTGTARS 11

Question Number : 72 Question Id : 5400732472 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The Cell wall Structural components of a fungi are -
Options :

1. Peptidoglycan

2. Cellulose

3. Chitin



4. Chitin, Cellulose and Hemicellulose

Question Number : 72 Question Id : 5400732472 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
HAP DI DHIADT B WTATHD dd 6~
Options :

1. UPTe NS i

2. Yegars

3. BIgfed

4. I, Jegaiel qUT gibegarsl

Question Number : 73 Question Id : 5400732473 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

which of the following is a family of lambda phage viruses/
Options :

1. Styloviridae

2. Certicoviridae

3. Microcoviridae

4. Pedoviridae

Question Number : 73 Question Id : 5400732473 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

o & QT ST TS fAuTY] 7 U TRaR B-
Options :

1. rgefaRel

2. HIicHIfARS

3. HIghIaRe!
4. TSRSt

Question Number : 74 Question Id : 5400732474 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

For which viral disease, vaccine has been recently developed through the use of tissue culture?
Options :

1. Smallpox

2. Rabies



3. Mumps
4. Measles

Question Number : 74 Question Id : 5400732474 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

forg fawToy 77 & forT U ey o) heer & T gRT 31+t g1et H faep R 88 22
Options :

1. ST Tl

2. 1

3.

4. Hifored

Question Number : 75 Question Id : 5400732475 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The microorganisms from lakes and rivers can grow at a salt concentration of
Options :

1. Above 1%

2. Below 1 %

3. Between 2.5to 4 %

4.0.05

Question Number : 75 Question Id : 5400732475 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

2ficll Td e @ ur geriia fby THe Figar # gfg R Jhd 22
Options :

1. T Ufd=Id & SW

2. T Ufd=Id & i

3. Bl% ¥ IR yfaerd

4. U149 wfa=rd

Question Number : 76 Question Id : 5400732476 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Acridine Orange is which type of nutagen?
Options :

1. Chemical Compounds



2. Transosons
3. Base analog
4. Intercalating agents

Question Number : 76 Question Id : 5400732476 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Tihe M 3RS fhy UhR BT IURTAD 52
Options :

1. IR At
2. SRIUISTT=

3. 99 TATEANT
4. ITIPACT Toic

Question Number : 77 Question Id : 5400732477 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Lipopolysaccharide in cell wal is the characteristic of
Options :

1. Algae

2. Gungi

3. Gram negative bacteria

4. Gram Positive bacteria

Question Number : 77 Question Id : 5400732477 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

AU RISS [y GErsnal Bt IR AR & IURYd BIdT 87
Options :

1. QaTd

2. hddh

3. 7 fAAfea dadifan

4. M UitIfed Saciean

Question Number : 78 Question Id : 5400732478 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
One of the following is present in the teichoic acid-
Options :



1. Glycerol

2. Ribitol

3. Nicotine

4. Glucose derivative

Question Number : 78 Question Id : 5400732478 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
5 7 & doisd o | IURYd 38T 5
Options :

1. fereRTa
2. Rfsera
3. fA@ifes
4. H 1 sfkdfeq

Question Number : 79 Question Id : 5400732479 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

One of the following is a non-reducing sugar-
Options :

1. Glucose

2. Maltose

3. Sucrose

4. Fructose

Question Number : 79 Question Id : 5400732479 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
370 I TP ST TERT 8-
Options :

1. DI

2. AT IS

3. gehIS

4. oIS

Question Number : 80 Question Id : 5400732480 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Inulin is a



Options :

1. Lipid

2. Protein

3. Polysaccharide
4. Vitamin

Question Number : 80 Question Id : 5400732480 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Question Number : 81 Question Id : 5400732481 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

which is the most abundant protein in the human body -
Options :

1. Myosin

2. Collagen

3. Actin

4. Albumin

Question Number : 81 Question Id : 5400732481 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

IS & IRR T TaY 16T UgR A6 § 911 S Tt gréH 3 -
Options :

1. AR

2. PIctoH

3. Tfde

4. TegfH

Question Number : 82 Question Id : 5400732482 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



If the percentae of thymine in DNA is 20, then what would be percentage ofguanine?
Options :

1.0.2

2.0.3

3.04

4.0.6

Question Number : 82 Question Id : 5400732482 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

g ST & Ui &1 Ufa=id 20 € o T3 &1 Ufa=rd 31 grm?
Options :

1.0.2

2.0.3

3.04

4.0.6

Question Number : 83 Question Id : 5400732483 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

One of the following amino acids has largest surface area-
Options :

1. Alanine

2. Valine

3. Tryptophan

4. Theonine

Question Number : 83 Question Id : 5400732483 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

9 & QT I o BT SMTUIA MR T SITeT 8-
Options :

1. Tt

2. qdH

3. fepitha

4. Rt

Question Number : 84 Question Id : 5400732484 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Proteins can show maximum absorbance of light at a wavelength
Options :
1. 260nm
2. 280nm
3.340 nm
4. 620 nm

Question Number : 84 Question Id : 5400732484 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
T 39 AT W SHRIeHH YehTRT BT ST Hd &

Options :

1. 260 R
2. 280 AFHER
3. 340 AR
4. 620 FHER

Question Number : 85 Question Id : 5400732485 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Solution 'A' has a pH3 and solution B has a pH4. which solution has higher Hydrogen ion concentration and
by how much fold?

Options :

1. Solution 'A', 10 fold more
2. Solution 'B', 10 fold more
3. Solution 'A’, 10 fold less
4. Solution 'B', 10 fold less

Question Number : 85 Question Id : 5400732485 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

e <3 Hw1 Y3 B SR faema & w1 a4 B | ford faaram & SRS IoH ST o1 ITsuT STeT 8§ 3R
for T SaTaT 8 |

Options :

1. faeras <3p, 10 A1 <TGl

2. faeT T &, 10 A1 S1Gl

3. faerd <3, 10 T HH

4. f9eT @, 10 T HY



Question Number : 86 Question Id : 5400732486 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Step purification technique for a protein is -
Options :

1. Affinity chromatography

2. Ion-exchange chromatography

3. Gel-filtration

4. Paper chromatography

Question Number : 86 Question Id : 5400732486 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

T & TR0 A Wi & Yhgaru ) fafdr 2--
Options :

1. TChICT ShIHCTT

2. 3TTH-TRISS ShIHCIT

3. 9id flheg=H

4. UIR ShIHCIUTHI

Question Number : 87 Question Id : 5400732487 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

One of the following is a RNA type envolved in protein biosynthesis
Options :

1. sn RNA

2. 1RNA

3. yRNA

4. dsRNA

Question Number : 87 Question Id : 5400732487 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

e 1 Ue 3RUAY ey Wi TReor # YR AT 3|
Options :

1. THU 3RTAY

2. SRR HRTEY

3.dlg 3RUATY

4. feE 3RUY



Question Number : 88 Question Id : 5400732488 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

How many unusual bases are observed in a tRNA molecule?
Options :

1.1

2.3

3.5

4.0

Question Number : 88 Question Id : 5400732488 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

& 3RTT B $d [ SRATHIIS S8 U oI 82
Options :

1.1

2.3

3.5

4.0

Question Number : 89 Question Id : 5400732489 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
which of the following is a slovent process
Options :

1. Splicing

2. Translation

3. Transcription

4. Replication

Question Number : 89 Question Id : 5400732489 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
5 & O D It forafaft waw i 51
Options :

1. TATS R

2. TR

3. SR

4. ARIHTA



Question Number : 90 Question Id : 5400732490 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

One of the following does not participation gene expression
Options :

1. Transcription

2. RNA splicing

3. Replication

4. Translation

Question Number : 90 Question Id : 5400732490 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
$TH ¥ U S TBIRA & Y1 8! ol 6|
Options :

1. Tifeh =

2. 3RUAT WRRAT
3. AIh e
4, THAARA

Question Number : 91 Question Id : 5400732491 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

which of the following will form palindromic sequence
Options :

1. AGTECTGA

2. GTTCCAAG

3. ATTGCAAT

4. GTTGGAAC

Question Number : 91 Question Id : 5400732491 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

9 7 T o Uferargifie Rdra s |
Options :

1. AGTECTGA

2. GTTCCAAG

3. ATTGCAAT

4. GTTGGAAC



Question Number : 92 Question Id : 5400732492 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

One of the following is net essential for DNA sequencing...
Options :

1. Polymerase Chain reaction

2. Electrophoresis

3. Restriction digestion

4. Cloning

Question Number : 92 Question Id : 5400732492 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
20 ¥ U SITU & RIS R 8 3awas el g
Options :

1. OfeieRet o RuaRH
2. TAG DRI

3. YRCHRMA SOIRA

4, FA=T

Question Number : 93 Question Id : 5400732493 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Phospohofrutokinase is a enzyme -
Options :

1. Allosteric Enzyme

2. Non allosteric enzyme

3. Isozyme

4. Synzyme

Question Number : 93 Question Id : 5400732493 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
PRBITha BT ol ToTSH g3
Options :

1. TR R TTeH

=Y

2.4 JalxcRen KvlloH

3. 3TZYSSH




4. RyemsH

Question Number : 94 Question Id : 5400732494 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The fusion between a plasma cell and the tumor cell creates a
Options :

1. Myeloma

2. Hybridoma

3. hymphoma

4. Lymphoblast

Question Number : 94 Question Id : 5400732494 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
WITSHT BIfRIDT Td S[AR BIRIDBT b GRTTH I I8 1 3|

Options :

1. HISCHT
2. gIRfesHT
3. fommrn
4. fomplsaRe

Question Number : 95 Question Id : 5400732495 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which one from following technology is used in making memory chips?
Options :

1. Nanofabrication

2. Nano Design

3. Tissue Engineering

4. Microassay

Question Number : 95 Question Id : 5400732495 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

9 & § ®F It dd-ie TERT fog a9 & ugad gt 7 |
Options :

1. B Sh R
2. AfeaE




3. fegganfizifzet
4. HTZHITH

Question Number : 96 Question Id : 5400732496 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The chemical nature of quantum dots is
Options :

1. Biologic

2. Inorganic

3. Organic

4. Metallic

Question Number : 96 Question Id : 5400732496 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

SHicH I BT AYTAD TWHT HIT gldl 2|
Options :

I IBINISED
2. AFHTEHD
3. HEHD
4. Aefere

Question Number : 97 Question Id : 5400732497 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which type of graph plot is used to analysed the effect of temperature on the rates of chemical reactions?
Options :

1. Dot plot

2. Normal Probability plot

3. Arrhenious plot

4. Line weaver Bark plot

Question Number : 97 Question Id : 5400732497 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

forit X SIffoRaT 1 &R TR A1 & UHTd & fa=a0l 5 [ UeR &1 U1 Wie T gl g |

Options :
1. SIc WIilc




2. T Uiaierd] wie
3. RBIad e
4. ATSTIRR 9 WTe

Question Number : 98 Question Id : 5400732498 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the basic optical density (O.D.) of the bacterial cells.
Options :

1. 600 nm

2. 680nm

3.260 nm

4. 280nm

Question Number : 98 Question Id : 5400732498 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :
1. 600nm
2. 680nm
3.260nm
4. 280nm

Question Number : 99 Question Id : 5400732499 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is not a variant of BLAST?
Options :

1. BLAST X

2. BLAST NX

3. BLASTP

4. BLASTN

Question Number : 99 Question Id : 5400732499 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Question Number : 100 Question Id : 5400732500 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The use of bacteria and other microorganism to break down hazardous waste into relatively harmless
components, is termed.

Options :

1. Photoremediation

2. Source Reduction Reaction

3. Inclusive waste Mangagement
4. Bioremediation

Question Number : 100 Question Id : 5400732500 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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